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This is the problem formulation in terms of dynamic programming.

—

One way to solve is to solve the corresponding HJB PDE formed from the
minimum time cost and system dynamics.

Another way is to discretize the space into a square grid and convert the
problem into a routing problem.
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One way to solve is to solve the corresponding HJB PDE formed from the 
minimum time cost and system dynamics.

Another way is to discretize the space into a square grid and convert the 
problem into a routing problem.









